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AW©emñÌ 
ECONOMICS 

 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 80 

Time allowed : 3 hours Maximum Marks : 80 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 11 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >24 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 
 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 

_| 10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 11 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 24 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 

(i) XmoZm| IÊS>m| Ho$ g^r àíZ A{Zdm`© h¢ & 

(ii) àË`oH$ àíZ Ho$ {ZYm©[aV A§H$ CgHo$ gm_Zo {XE JE h¢ & 

(iii) àíZ g§»`m 1 – 4 VWm 13 – 16 A{V bKwÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ H$m 1 A§H$ h¡ & 
BZH$m àË`oH$ H$m CÎma EH$ dmŠ` _| hr Ano{jV h¡ &   

(iv) àíZ g§»`m 5 – 6 Am¡a 17 – 18 bKwÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ Ho$ 3 A§H$ h¢ & 
àË`oH$ H$m CÎma gm_mÝ`V… 60 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(v) àíZ g§»`m 7 – 9 Am¡a 19 – 21 ^r bKwÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ Ho$ 4 A§H$ h¢ & 
àË`oH$ H$m CÎma gm_mÝ`V… 70 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(vi) àíZ g§»`m  10 – 12  Am¡a  22 – 24 XrK© CÎmamË_H$ àíZ h¢, {OZ_| àË`oH$ Ho$ 6 A§H$ 
h¢ & àË`oH$ H$m CÎma gm_mÝ`V… 100 eãXm| go A{YH$ Zht hmoZm Mm{hE & 

(vii) CÎma g§{jßV VWm VÏ`mË_H$ hmoZo Mm{hE VWm `Wmg§^d D$na Xr JB© eãX gr_m Ho$ A§VJ©V 
hr {XE OmZo Mm{hE & 

 

General Instructions : 

(i) All questions in both the sections are compulsory. 

(ii) Marks for questions are indicated against each question. 

(iii) Question Nos. 1 – 4 and 13 – 16 are very short-answer questions carrying 

1 mark each. They are required to be answered in one sentence each. 

(iv) Question Nos.  5 – 6  and  17 – 18  are  short-answer questions carrying  

3 marks each. Answers to them should normally not exceed 60 words 

each. 

(v) Question Nos. 7 – 9 and 19 – 21 are also short-answer questions carrying 

4 marks each.  Answers  to  them  should  normally  not  exceed 70 words 

each.  

(vi) Question  Nos.  10 – 12 and 22 – 24  are  long-answer  questions  

carrying 6 marks each. Answers to them should normally not exceed  

100 words each. 

(vii) Answers should be brief and to the point and the above word limits 

should be adhered to as far as possible. 
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IÊS> A 

SECTION A 

 

1. O~ gr_m§V CËnmX ~‹T>Vm h¡, Vmo Hw$b CËnmX  
 (ghr {dH$ën Mw{ZE) 1 

(A) {JaVm h¡ 

(~) ~‹T>Vm h¡ 

(g) {Ja gH$Vm h¡ `m ~‹T> gH$Vm h¡ 

(X) pñWa ahVm h¡   

When marginal product rises, total product  

(Choose the correct alternative)  

(a) Falls  

(b) Rises  

(c) Can rise or can fall  

(d) Remains constant  

 

2. AënVm (Xþb©^Vm) H$s g_ñ`m go Amn Š`m g_PVo h¢ ?  $  1 

What do you mean by the problem of scarcity ?  

 

3. bmJV H$s n[a^mfm Xr{OE &  1 

Define cost.  
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4. O~ Am¡gV bmJV {JaVr h¡, Vmo gr_m§V bmJV   
 (ghr {dH$ën Mw{ZE)  1 

(A) {JaVr h¡ 

(~) ~‹T>Vr h¡ 

(g) {Ja gH$Vr h¡ `m ~‹T> gH$Vr h¡  

(X) Z Vmo {JaVr h¡ Am¡a Z hr ~‹T>Vr h¡  

When average cost falls, marginal cost   

(Choose the correct alternative)  

(a) Falls 

(b) Rises  

(c) May fall or may rise  

(d) Neither falls nor rises  

5. dñVw H$s AnZr H$s_V N>mo‹S>H$a ì`{º$JV _m±J Ho$ H$moB© VrZ {ZYm©aH$ ~VmBE &   3 

State any three determinants of individual demand other than own price 

of the good.    

6. ì`{îQ> AW©emñÌ Am¡a g_{îQ> AW©emñÌ Ho$ ~rM A§Va ñnîQ> H$s{OE & àË`oH$ H$m EH$-EH$ 

CXmhaU Xr{OE &    3 

AWdm 

CËnmXZ g§^mdZmAm| H$m dH«$ Š`m {XImVm h¡ ? Š`m `h {IgH$ gH$Vm h¡ ? H$~ ? 

Distinguish between microeconomics and macroeconomics. Give an 

example of each.   

OR 

What does production possibilities curve show ? Can it shift ? When ?   
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7. ‘Ý`yZV_ H$s_V gr_m {ZYm©aU’ go Š`m A{^àm` h¡ ? BgHo$ à^md g_PmBE &  4 

What is ‘price floor’ ? Explain its implications.   

 

8. `{X {H$gr dñVw Ho$ _yë` _| 10% d¥{Õ hmoZo na ^r dñVw H$s _m±J _| H$moB© n[adV©Z Zht 

AmVm h¡, Eogr pñW{V _| _m±J dH«$ Ho$ àmê$n na {Q>ßnUr H$s{OE &   4 

Comment upon the shape of the demand curve if the price of a 

commodity rises by 10% and there is no change in its quantity 

demanded.   

 

9. gåàm{ßV (AmJ_) go ì`{îQ> AW©emñÌ _| Š`m A{^àm` h¡ ? nyU© à{V`mo{JVm _| gr_m§V 

gåàm{ßV Am¡a Am¡gV gåàm{ßV Ho$ ~rM g§~§Y ~VmBE & Cn ẁº$ aoIm{MÌ AWdm Vm{bH$m 

H$m à`moJ H$s{OE & 4 

                    AWdm 

 Amny{V© H$s n[a^mfm Xr{OE & ‘‘ny{V© _| d¥{Õ’’ Am¡a ‘‘ny{V© _| {dñVma’’ _| A§Va ñnîQ>  

H$s{OE &  

What is revenue in microeconomics ? State the relation between 

marginal revenue and average revenue under perfect competition, using 

suitable diagram or schedule.    

   OR 

Define supply. Distinguish between ‘‘increase in supply’’ and ‘‘extension 

in supply’’.    
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10. Hw$b CËnmX dH«$ H$s ghm`Vm go n[adVu AZwnmVm| H$m {Z`_ g_PmBE & aoIm{MÌ H$m à`moJ 
H$s{OE &   6 

Explain the law of variable proportions with the help of total product 

curve. Use diagram.   

 

 

ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>hrZ narjm{W©`m| Ho$ {bE àíZ g§»`m 10 Ho$ ñWmZ na h¡ & 

Note :  The following question is for the Blind Candidates only in lieu of  

Q. No. 10. 

 

 Hw$b CËnmX Vm{bH$m H$s ghm`Vm go n[adVu AZwnmVm| H$m {Z`_ g_PmBE & 6 

Explain the law of variable proportions with the help of total product 

schedule.    

 

 

11. nyU© à{V`mo{JVm H$s Mma {deofVmE± ~VmBE Am¡a MMm© H$s{OE &    6 

State and discuss four characteristics of perfect competition.  

 

 

12. EH$ Cn^moº$m Ho$db Xmo dñVwE± X Am¡a Y H$m Cn^moJ H$aVm h¡ & Cn`mo{JVm {díbofU Ûmam 
Cn^moº$m Ho$ g§VwbZ H$s eV] g_PmBE &   6  

   AWdm  

 AZ{Y_mZ dH«$m|$ H$s VrZ {deofVmE± ~VmBE Am¡a g_PmBE &    

A consumer consumes only two goods X and Y. Explain the conditions of 

consumer’s equilibrium using utility analysis.   

   OR 

State and explain three properties of indifference curves.  
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IÊS> ~ 

SECTION B 

 

13. `{X Am¡gV Cn^moJ àd¥{Îm H$m _yë` 0.75 h¡, Vmo Am¡gV ~MV àd¥{Îm H$m _yë` 
__________ hmoJm &  1 

If the value of average propensity to consume is given as 0.75, the value 

of average propensity to save would be ___________ .    

14. {ZåZ{b{IV _| go H$m¡Z-gm Ho$ÝÐr` ~¢H$ H$m H$m`© Zht  h¡ ?  

 (ghr {dH$ën Mw{ZE) 1 

(A) gaH$ma H$mo ~¢qH$J gw{dYmE± 

(~) bmoJm| H$mo ~¢qH$J gw{dYmE± 

(g) gaH$ma H$mo CYma XoZm 

(X) dm{UpÁ`H$ ~¢H$m| H$mo CYma XoZm   

Which of the following is not the function of the central bank ?  

(Choose the correct alternative)   

(a) Banking facilities to government  

(b) Banking facilities to public  

(c) Lendings to government  

(d) Lendings to commercial banks  

 

15. `{X ‘{d{YH$ Ama{jV {Z{Y AZwnmV’ 20% hmo, Vmo _wÐm JwUH$ H$m _mZ Š`m hmoJm ?   1 

If ‘legal reserve ratio’ is 20%, what will be the value of money  

multiplier ? 
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16. dmñV{dH$ amîQ´>r` Am` _| d¥{Õ Ho$ gmW bmoJm| Ho$ H$ë`mU  

 (ghr {dH$ën Mw{ZE) 1 

(A) _| d¥{Õ hmoVr h¡ 

(~) _| H$_r AmVr h¡ 

(g) _| H$moB© n[adV©Z Zht AmVm 

(X) Cn ẁ©º$ _| go H$moB© Zht  

With a rise in real national income, welfare of the people  

(Choose the correct alternative)  

(a) Rises   

(b) Falls  

(c) Remains unchanged  

(d) None of the above  

17. `{X {H$gr H$mën{ZH$ AW©ì`dñWm H$m Cn^moJ \$bZ h¡  3 

 C = 100 + 0.6 Y ; V~ 
(i) Cg AW©ì`dñWm _| gr_m§V Cn^moJ àd¥{Îm VWm gr_m§V ~MV àd¥{Îm Ho$ _mZ Š`m  
 hm|Jo ?  

(ii) VXZwgma ~MV \$bZ {b{IE &  

If a consumption function of a hypothetical economy is given as  

 C = 100 + 0.6 Y ; then   

(i) what will be the values of marginal propensity to consume and  

 marginal propensity to save for the economy ? 

(ii) write the corresponding saving function.  

18. {ZåZ{b{IV _| go H$m¡Z-gr ny±OrJV dñVw h¡ Am¡a H$m¡Z-gr Cn^moJ dñVw Am¡a Š`m| ?  3 

(A) Q>¡Šgr Ho$ ê$n _| à`moJ Am ahr H$ma 

(~) hmoQ>b _| ao{µ\«$OaoQ>a 

(g) Ka _| E`a-H§$S>reZa  

AWdm 

_Ü`dVu Cn^moJ H$s n[a^mfm Xr{OE Am¡a Bgo EH$ CXmhaU g{hV g_PmBE & `h A§{V_ 

Cn^moJ go {H$g àH$ma {^Þ h¡ ? 
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Which among the following are capital goods and which are consumer 

goods and why ?    

(a) A car used as a taxi  

(b) Refrigerator in a hotel  

(c) Air-conditioner in a house  

OR 

Define intermediate consumption and explain it with an example. How 

is it different from final consumption ? 

 

19. {Zdoe JwUH$ go Š`m A{^àm` h¡ ? EH$ C{MV g§»`mË_H$ CXmhaU Ûmam BgH$s à{H«$`m 
g_PmBE & 4 

What is investment multiplier ? Explain its working using a suitable 

numerical example.  

20. Ho$ÝÐr` ~¢H$ Ûmam {bE OmZo dmbo gmI {Z §̀ÌU Ho$ {H$Ýht Xmo Cnm`m| Ho$ AW© H$s MMm© 
H$s{OE &   4 

AWdm 

Ho$ÝÐr` ~¢H$ H$m ‘OmarH$Vm© ~¢H$’ H$m`© g_PmBE &  
Discuss the meaning of any two methods of controlling credit which may 

be adopted by the central bank.  

OR 

Explain the ‘bank of issue’ function of the central bank.  

21. ~MV Am¡a {Zdoe CnmJ_ Ûmam AW©ì`dñWm _| amîQ´>r` Am` {ZYm©aU g_PmBE & aoIm{MÌ 
H$m à`moJ H$s{OE &  4 

Explain the national income determination in an economy using saving 

and investment approach. Use diagram.  
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ZmoQ> : {ZåZ{b{IV àíZ Ho$db Ñ{ï>hrZ narjm{W©`m| Ho$ {bE àíZ g§»`m 21 Ho$ ñWmZ na h¡ & 

Note :  The following question is for the Blind Candidates only in lieu of  

Q. No. 21. 

 ~MV VWm {Zdoe CnmJ_ Ûmam AW©ì`dñWm _| amîQ´>r` Am` {ZYm©aU EH$ C{MV Vm{bH$m 
Ûmam g_PmBE &   4 

Explain the national income determination in an economy by saving and 

investment approach using a suitable schedule. 

22. pñWa {d{Z_` Xa H$s n[a^mfm Xr{OE & EH$ Zå` {d{Z_` Xa àUmbr _| {d{Z_` Xa H¡$go 

{ZYm©[aV hmoVr h¡ ?    2,4 

Define fixed exchange rate. How is the exchange rate determined in a 

flexible exchange rate system ?   

23. {ZåZ{b{IV Ho$ ~rM A§Va ñnîQ> H$s{OE :   6 

(A) gaH$mar ~OQ> _| amOñd ì`` Am¡a ny±OrJV ì``  

(~) àmW{_H$ KmQ>m Am¡a amOH$mofr` KmQ>m 

   AWdm  

 gaH$mar ~OQ> _| amOñd àm{ßV`m| Am¡a ny±OrJV àm{ßV`m| Ho$ ~rM A§Va ñnîQ> H$s{OE & BZHo$ 
KQ>H$ ~VmBE &   

Explain the distinction between the following :  

(a) Revenue expenditure and Capital expenditure in a government  

 budget  

(b) Primary deficit and Fiscal deficit  

   OR 

Explain the distinction between Revenue receipts and Capital receipts 

in a government budget. Give their components.  



58/3 11 P.T.O. 

24. (A) ~mµOma H$s_V na gH$b Kaoby CËnmX, VWm (~) amîQ´>r` Am` H$m n[aH$bZ H$s{OE : 3,3 

   (< H$amo‹S>m| _|)  
(i) gaH$mar A§{V_ Cn^moJ ì`` $  4,000 

(ii) {ZOr A§{V_ Cn^moJ ì`` 3,500 

(iii) gH$b Kaoby ny±Or {Z_m©U 1,100 
(iv) {Zdb {Z`m©V 500 

(v) {dXoem| go {Zdb H$maH$ Am` 100 

(vi) {Zdb AàË`j H$a  300 
(vii) Am{W©H$ ghm`Vm  40 

(viii) ñQ>m°H$ _| n[adV©Z 80 

(ix) AMb ny±Or H$m Cn^moJ  120 

 

Calculate (a) Gross domestic product at market price, and (b) National  

income : 

   (<  in crores) 

(i) Government final consumption expenditure  4,000 

(ii) Private final consumption expenditure  3,500 

(iii) Gross domestic capital formation 1,100 

(iv) Net exports  500 

(v) Net factor income from abroad 100 

(vi) Net indirect taxes  300 

(vii) Subsidies  40 

(viii) Change in stock  80 

(ix) Consumption of fixed capital  120 

 


